20504 - Douglas Boulevard Median Modification Project - Quote Form - Bid Pricing Table

					B & I	M Builders	Martin General Engineering, Inc		kp martin		JPB Designs Inc	
					Sub	mission 1	Sub	mission 1	Sub	mission 1	Sub	mission 1
Line												
Item P-F-V		Item Description	Unit of Measure	Estimated Quantity	<u>Unit Price</u>	Extended Amount	Unit Price	Extended Amount	Unit Price	Extended Amount		Extended Amount
1		TRAFFIC CONTROL SYSTEMS	LS	1	\$ 32,500.0000	\$32,500.00	\$ 52,000.0000	\$52,000.00	\$ 10,000.0000	\$10,000.00	\$ 30,000.0000	\$30,000.00
2		CONSTRUCTION AREA SIGNS	LS	1	\$ 2,500.0000	\$2,500.00	\$ 3,700.0000	\$3,700.00	\$ 0.0000	\$0.00	\$ 10,000.0000	\$10,000.00
3	120110	FLASHING ARROW BOARD	EA	1	\$ 1,250.0000	\$1,250.00	\$ 800.0000	\$800.00	\$ 3,450.0000	\$3,450.00	\$ 5,000.0000	\$5,000.00
4	120120	TYPE III BARRICADE	EA	1	\$ 500.0000	\$500.00	\$ 230.0000	\$230.00	\$ 350.0000	\$350.00	\$ 5,000.0000	\$5,000.00
5		PORTABLE CHANGEABLE MESSAGE BOARDS	EA	4	\$ 2,750.0000	\$11,000.00	\$ 2,800.0000	\$11,200.00	\$ 5,175.0000	\$20,700.00		\$20,000.00
6	130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1	\$ 9,000.0000	\$9,000.00	\$ 2,925.0000	\$2,925.00	\$ 10,000.0000	\$10,000.00	\$ 10,000.0000	\$10,000.00
7	190101	ROADWAY EXCAVATION	CY	160	\$ 135.0000	\$21,600.00	\$ 225.0000	\$36,000.00	\$ 336.8000	\$53,888.00	\$ 90.0000	\$14,400.00
8	260203	CLASS 2 AGGREGATE BASE	CY	90	\$ 180.0000	\$16,200.00	\$ 361.0000	\$32,490.00	\$ 244.6600	\$22,019.40	\$ 95.0000	\$8,550.00
9	378000	MICROSURFACING (TYPE III)	TON	50	\$ 1,800.0000	\$90,000.00	\$ 285.0000	\$14,250.00	\$ 1,760.0000	\$88,000.00	\$ 320.0000	\$16,000.00
10	390132	1/2" HOT MIX ASPHALT (TYPE A)	TON	90	\$ 350.0000	\$31,500.00	\$ 256.0000	\$23,040.00	\$ 350.0000	\$31,500.00	\$ 400.0000	\$36,000.00
11	730010A	MINOR CONCRETE (ROCK BLANKET)	SQFT	2600	\$ 25.0000	\$65,000.00	\$ 32.0000	\$83,200.00	\$ 24.5000	\$63,700.00	\$ 42.0000	\$109,200.00
12	730010B	MINOR CONCRETE (TYPE 4 CURB)	LF	210	\$ 50.0000	\$10,500.00	\$ 89.0000	\$18,690.00	\$ 105.0000	\$22,050.00	\$ 65.0000	\$13,650.00
13	730010C	MINOR CONCRETE (TYPE 6 CURB)	LF	110	\$ 55.0000	\$6,050.00	\$ 140.0000	\$15,400.00	\$ 90.0000	\$9,900.00	\$ 65.0000	\$7,150.00
14	810120	REMOVE PAVEMENT MARKER	EA	70	\$ 10.0000	\$700.00	\$ 4.6000	\$322.00	\$ 3.4500	\$241.50	\$ 10.0000	\$700.00
15	820141	OBJECT MARKER (TYPE K-1)	EA	6	\$ 100.0000	\$600.00	\$ 98.0000	\$588.00	\$ 69.0000	\$414.00	\$ 100.0000	\$600.00
16	810170	DELINEATOR	EA	100	\$ 75.0000	\$7,500.00	\$ 71.0000	\$7,100.00	\$ 102.0000	\$10,200.00	\$ 200.0000	\$20,000.00
17	810230	PAVEMENT MARKER (RETROREFLECTIVE)	EA	70	\$ 29.0000	\$2,030.00	\$ 14.0000	\$980.00	\$ 6.9000	\$483.00	\$ 18.0000	\$1,260.00
18	820480A	REMOVE OBJECT MARKER	EA	5	\$ 75.0000	\$375.00	\$ 58.0000	\$290.00	\$ 57.5000	\$287.50	\$ 60.0000	\$300.00
19	820530	RESET ROADSIDE SIGN	EA	6	\$ 550.0000	\$3,300.00	\$ 460.0000	\$2,760.00	\$ 155.0000	\$930.00	\$ 450.0000	\$2,700.00
20	840502	THEMOPLASTIC TRAFFIC STRIPE	LF	3800	\$ 2.0000	\$7,600.00	\$ 3.7500	\$14,250.00	\$ 0.0000	\$0.00	\$ 5.0000	\$19,000.00
21	840515	ENHANCED WET NIGHT VISIBILITY	LF	3800	\$ 2.5000	\$9,500.00	\$ 0.9500	\$3,610.00	\$ 8.0500	\$30,590.00	\$ 4.0000	\$15,200.00
22	846035	REMOVE THERMOPLASTIC PAVEMENT MARKING	SQFT	240	\$ 18.0000	\$4,320.00	\$ 11.5000	\$2,760.00	\$ 4.0250	\$966.00	\$ 15.0000	\$3,600.00
23	847200	REMOVE 6" TRAFFIC STRIPE	LF	3500	\$ 2.5000	\$8,750.00	\$ 1.7500	\$6,125.00	\$ 4.6000	\$16,100.00	\$ 4.0000	\$14,000.00
24	999990	MOBILIZATION	LS	1	\$ 30,000.0000	\$30,000.00	\$ 65,000.0000	\$65,000.00	\$ 9,500.0000	\$9,500.00	\$ 50,000.0000	\$50,000.00
Subtotal:						\$372,275.00		\$397,710.00		\$405,269.40		\$412,310.00
LVP Cost:						\$0.00		\$397,710.00		\$405,269.40		\$412,310.00
Total After LVP:						\$372,275.00		\$397,710.00		\$405,269.40		\$412,310.00



Procurement Services Division 2964 Richardson Drive • Auburn, CA 95603 (530) 886-2122

20504 - Douglas Boulevard Median Modification Project

Opening Date: March 22, 2024 2:00 PM

Closing Date: April 9, 2024 11:00 AM

To ensure a complete and timely response, it is strongly recommended that you submit your bid response via our Online Bidding System. However, if you have difficult submitting your bid online or prefer to submit your bid manually (hard-copy) for any reason, print and complete this bid package along with any required bid documents, and mail or deliver in a sealed envelope to:

Placer County Procurement Services Division

2964 Richardson Drive

Auburn, CA 95603

All bids must be submitted on original documents (no fax bids) prior to the Closing Date and Time specified above and as prescribed in this bid's General Terms and Conditions. All bids must be signed by an authorized representative of the firm. UNSIGNED OR LATE BIDS WILL BE REJECTED.

Vendors shall complete the area below for hard copy submissions:

COMPANY NAME:	
City/State/7in:	
Contact Person:	
Telephone:	
Email:	
SIGNATURE:	
DATE:	
Title:	

By signature above, bidder hereby agrees to and accepts the terms, conditions and requirements specified in this bid, including the following bid documents and all related addenda (if any).

Vendor Details

Company Name: B & M Builders

Does your company conduct

business under any other name? If No

yes, please state:

11330 Sunset Park Dr Suite C

Address:

Rancho Cordova, CA 95742

Contact: Patrick Mullen

Email: estimating@bm-builders.com

Phone: 916-638-8626 Fax: 916-352-6944 HST#: 51-0539817

Submission Details

 Created On:
 Monday April 08, 2024 07:41:00

 Submitted On:
 Tuesday April 09, 2024 10:31:20

Submitted By: Patrick Mullen

Email: estimating@bm-builders.com

Transaction #: 5d8e083a-1c5e-4756-970a-520dbd72e823

Submitter's IP Address: 73.192.181.77

Schedule of Prices

Bid Pricing Table

Line Item	P-F-W	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price *	Extended Amount	
1		120100	TRAFFIC CONTROL SYSTEMS	LS	1	\$32,500.0000	\$ 32,500.00	٦
2		120090	CONSTRUCTION AREA SIGNS	LS	1	\$2,500.0000	\$ 2,500.00	Ī
3		120110	FLASHING ARROW BOARD	EA	1	\$1,250.0000	\$ 1,250.00	٦
4		120120	TYPE III BARRICADE	EA	1	\$500.0000	\$ 500.00	Ī
5		128651	PORTABLE CHANGEABLE MESSAGE BOARDS	EA	4	\$2,750.0000	\$ 11,000.00	
6		130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1	\$9,000.0000	\$ 9,000.00	
7		190101	ROADWAY EXCAVATION	CY	160	\$135.0000	\$ 21,600.00	٦
8		260203	CLASS 2 AGGREGATE BASE	CY	90	\$180.0000	\$ 16,200.00	٦
9		378000	MICROSURFACING (TYPE III)	TON	50	\$1,800.0000	\$ 90,000.00	╗
10		390132	1/2" HOT MIX ASPHALT (TYPE A)	TON	90	\$350.0000	\$ 31,500.00	Π
11		730010A	MINOR CONCRETE (ROCK BLANKET)	SQFT	2600	\$25.0000	\$ 65,000.00	
12		730010B	MINOR CONCRETE (TYPE 4 CURB)	LF	210	\$50.0000	\$ 10,500.00	Ī
13		730010C	MINOR CONCRETE (TYPE 6 CURB)	LF	110	\$55.0000	\$ 6,050.00	
14		810120	REMOVE PAVEMENT MARKER	EA	70	\$10.0000	\$ 700.00	
15		820141	OBJECT MARKER (TYPE K-1)	EA	6	\$100.0000	\$ 600.00	Ī
16		810170	DELINEATOR	EA	100	\$75.0000	\$ 7,500.00	
17		810230	PAVEMENT MARKER (RETROREFLECTIVE)	EA	70	\$29.0000	\$ 2,030.00	
18		820480A	REMOVE OBJECT MARKER	EA	5	\$75.0000	\$ 375.00	Ī
19		820530	RESET ROADSIDE SIGN	EA	6	\$550.0000	\$ 3,300.00	٦
20		840502	THEMOPLASTIC TRAFFIC STRIPE	LF	3800	\$2.0000	\$ 7,600.00	Ī
21		840515	ENHANCED WET NIGHT VISIBILITY	LF	3800	\$2.5000	\$ 9,500.00	٦
22		846035	REMOVE THERMOPLASTIC PAVEMENT MARKING	SQFT	240	\$18.0000	\$ 4,320.00	
23		847200	REMOVE 6" TRAFFIC STRIPE	LF	3500	\$2.5000	\$ 8,750.00	٦
24		999990	MOBILIZATION	LS	1	\$30,000.0000	\$ 30,000.00	Ī
						Subtota	l: \$ 372,275.00	

Summary Table

Bid Form	Amount
Bid Pricing Table	\$ 372,275.00
Subtotal Contract Amount:	\$ 372,275.00

List of Proposed Substitutions

Pursuant to Public Contract Code Section 3400, the following substitutions are proposed as "Equals" for those set forth in the Contract. All data substantiating the proposed substitutions shall be submitted to the County upon request.

Contract Section *		Name and Manufacturer of Proposed Product To Be Substituted *	Model/Quantity of Proposed Product *
N/A	N/A	N/A	N/A

Contractor License and PWC Registration Numbers

Contractor License

The successful bidder shall possess a valid Contractor License issued by the State of California at the time of opening of the bids and for the duration of the contract. Provide your license information below.

Department of Industrial Relations Public Works Contractor (PWC) Registration

All contractors and subcontractors who bid on public works projects must be registered with the Department of Industrial Relations, pursuant to Labor Code section 1725 5

Provide your PWC registration number below.

License Type *	License Number *	License Expiration Date *	PWC (DIR) Registration Number *	
A, B, C8, C10, C12,	861848	7-31-2025	1000003277	*
C20, C27, C31, C53, C54				

List of Subcontractors

Enter firm name, city, state, California contractor license number, and public works contractor registration number for each subcontractor performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104). If no subcontractors will be used, enter "None".

Line Iten	n Business Name	Location City	State	California Contractor License	Public Works Contractor DIR Registration Number	DBE (Y/N)
1	Bob's Tree Company	Weimar	CA	1234567	98765432	Yes
2	Ben's Paving	Penryn	CA	99991010	53074535	No

Line Item	Business Name *	Location City *	State *	California Contractor License Number *	Public Works Contractor DIR Registration Number *
1	Tully Consulting Group	Dixon	CA	C64354	1000024960
2	Darren Taylor Construction, Inc.	Anderson	CA	903262	1000005101
-	American Pavement Systems, Inc.	Modesto	CA	943792	1000000207

Portion of Work Subcontracted

Enter firm name, bid item numbers, percentage of each bid item numbers, and description of work for each of your subcontractors performing work in excess of 1/2 of 1 percent of the total bid, or \$10,000, whichever is greater (CA PCC 4104).

Item Field:

• Enter single bid item numbers and percentage of bid item performed by subcontractor on each line of the Subcontractor List. Do not enter words in the Item Number field.

Description Field:

- If the percentage of the bid item work is less than 100%, list the description of the portion of work to be subcontracted (Eg. tree removal portion of clear and grub Bid Item 1).
- List sequential items that are 100% in a range as follows: Items 77-80.
- List non-sequential items that are 100% in a list separatated by commas as follows: Items 95, 97, 99.
- If no subcontractors will be used for this project, enter "None".

Subcontractor Item Percentage (%) Description Bob's Tree Co 1 Tree Removal

Ben's Paving 23-35, 37, 39, 41 100%

Subcontractor	Item	Percentage (%)	Description

Documents

- Equal Employment Opportunity Certification Equal Employment Opportunity Cert. B&M.pdf Tuesday April 09, 2024 10:22:45
- Public Contract Code Statements Public Contract Code Statements B&M.pdf Tuesday April 09, 2024 10:21:55
- Non-Collusion Affidavit Non-Collusion Affidavit B&M.pdf Tuesday April 09, 2024 10:21:09
- Debarment and Suspension Certification Debarment and Suspension Certification B&M.pdf Tuesday April 09, 2024 10:20:07
- Statement of Experience Statement of Experience B&M.pdf Tuesday April 09, 2024 10:19:19
- Bid Security Election Form Bid Security Election -B&M.pdf Tuesday April 09, 2024 10:18:18
- Additional Document Bid Packet B&M.pdf Tuesday April 09, 2024 10:27:07

BID SECURITY

In accordance with California Public Contract Code Section 20129, all bids shall be accompanied by Bid Security. The Bid Security may consist of cash, cashier's check made payable to the County, certified check made payable to the County, or a Bid Bond executed by an admitted surety insurer made payable to Placer County.

The amount of the Bid Security shall not be less than ten percent (10%) of the total amount of the bid. For the purposes of this Section, "the amount of the bid" does not include alternates, if any. The signature of the Surety on the Bid Bond shall be notarized and accompanied by a duly authorized Power of Attorney as evidence of his/her authority, if executing as attorney-in-fact for the Surety.

The cash, cashier's check, certified check or Bid Bond shall be given as a guarantee that the successful bidder will enter into a written contract within ten (10) days after being requested to do so and will be considered as the stipulated amount of liquidated damages in the event the bidder is unable to or refuses to execute a contract for the work. Upon an award to the successful bidder, the security of unsuccessful bidders shall be returned in a reasonable period of time.

Electronic Bid Submissions:

If the bidder elects to submit an electronic bid response, the following documents must be attached to the electronic bid response in bids&tenders™:

- Bid Security Election Form (required for all electronic submissions)
- Scanned copy of the Bidder's executed Bid Bond (required if not submitting cash, cashier's check, certified check or digital Bid Bond). **SEE BELOW**
- Scanned copy of Cashier's Check or Certified Check (required if not submitting a Bid Bond, Digital Bid Bond or cash). **SEE BELOW**
- Digital Bid Bond (required if not submitting cash, cashier's check, certified check or scanned Bid Bond)
- Power of Attorney (required for Bid Bonds if signature of Surety is executing as attorney-in-fact for the Surety)
- Notary Documentation (required for all Bid Bonds)

**The cash, original cashier's check, original certified check, or original executed bid bond must be received at the Office of Procurement Services at 2964 Richardson Drive, Auburn, CA 95603, NOT LATER THAN 48 HOURS AFTER THE BID CLOSING TIME, excluding weekends and County holidays. Bid security shall be submitted in a sealed envelope addressed to the Procurement address above with the Project name and Bid number identified. The security type submitted by the bidder must match the security type indicated by the bidder on the Bid Security Election Form. MISMATCHED SECURITY TYPES OR FAILURE TO SUBMIT THE REQUIRED INFORMATION BY THE DEADLINE SPECIFIED ABOVE WILL RENDER YOUR BID NON-RESPONSIVE.

The information on the original bid bond including, but not limited to, surety, dates, names, signatures, power of attorney and notary documentation must match the information on the bid bond copy that was submitted with the electronic bid response. DISCREPANCIES BETWEEN THE ORIGINAL BID BOND AND COPY MAY RENDER YOUR BID NON-RESPONSIVE.

Hard Copy Bid Submissions:

If the bidder elects to submit a hard copy bid response, the Bid Security (cash, cashier's check, certified check or original executed Bid Bond) must be enclosed with the sealed bid. Bidders who submit hard copy bid responses in lieu of electronic bid submissions are not required to submit the Bid Security Election Form.

• Bid Bond / Security - Bid Bond - B&M.pdf - Tuesday April 09, 2024 10:23:21

Addenda, Terms and Conditions

The Bidder acknowledges and agrees that the addendum/addenda below form part of the Bid Document

Please check the box in the column "I have reviewed this addendum" below to acknowledge each of the addenda.

File Name	I have reviewed the below addendum and attachments (if applicable)	Pages
20504 Addendum 1 Thu April 4 2024 08:37 AM	区	-

EQUAL EMPLOYMENT OPPORTUNITY CERTIFICATION

The bidder		B&M	Builders, Inc.	, proposed subcontractor
		All	, hereby certific	es that he has X_{-} , has not, participated in
a prev	ious contract or	subcontract subject to the		s, as required by Executive Orders 10925,
				porting Committee, the Director of the Office of
				nistering agency, or the former President's
				applicable filling requirements.
Note:	contracts and are exempt fro subcontracts of Currently, Star regulations. Proposed prim subject to the prevents the aperiod or such	17(b) (1)), and must be subsubcontracts, which are somethe equal opportunity of \$10,000 or under are endard Form 100 (EEO-1) are contractors and subcontractors and s	ibmitted by bidders and prosubject to the equal opports clause are set forth in 41 Coxempt.) is the only report required intractors who have participate not filed the required report rectant acts unless such cord the Federal Highway Adm	ortunity Regulations of the Secretary of Labor oposed subcontractors only in connection with unity clause. Contracts and subcontracts which CFR 60-1.5. (Generally only contracts or by the Executive Orders or their implementing pated in a previous contract or subcontract ports should note that 41 CFR 60-1.7(b) (1) intractor submits a report covering the delinquent ministration or by the Director, Office of Federal
	TRACTOR Builders, Inc	7 1		
Signa	2	h	-	
Name	e: Patrick Mulle	n		
Date:	4-9-2024			

PUBLIC CONTRACT CODE

Public Contract Code Section 10285.1 Statement

In conformance with Public Contract Code Section 10285.1 (Chapter 376, Stats. 1985), the bidder hereby declares under penalty of perjury under the laws of the State of California that the bidder has ____, has not _X_ been convicted within the preceding three years of any offenses referred to in that section, including any charge of fraud, bribery, collusion, conspiracy, or any other act in violation of any state or Federal antitrust law in connection with the bidding upon, award of, or performance of, any public works contract, as defined in Public Contract Code Section 1101, with any public entity, as defined in Public Contract Code Section 1100, including the Regents of the University of California or the Trustees of the California State University. The term "bidder" is understood to include any partner, member, officer, director, responsible managing officer, or responsible managing employee thereof, as referred to in Section 10285.1.

Note: The bidder must place a check mark after "has" or "has not" in one of the blank spaces provided. The above Statement is part of the Bid. Signing this Bid on the signature portion thereof shall also constitute signature of this Statement. Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

	B&M Builders, Inc.
	NAME OF COMPANY
	Patrick Mullen
	PRINT NAME OF BIDDER
	ann-
	(Signature of Bidder)
ted:	4-9-2024

Public Contract Code Section 10162 Questionnaire

In conformance with Public Contract Code Section 10162, the Bidder shall complete, under penalty of perjury, the following questionnaire:

Has the bidder, any officer of the bidder, or any employee of the bidder who has a proprietary interest in the bidder, ever been disqualified, removed, or otherwise prevented from bidding on, or completing a federal, state, or local government project because of a violation of law or a safety regulation?

Yes	No	Χ

If the answer is yes, explain the circumstances in the following space.

Public Contract Code 10232 Statement

In conformance with Public Contract Code Section 10232, the Contractor, hereby states under penalty of perjury, that no more than one final unappealable finding of contempt of court by a federal court has been issued against the Contractor within the immediately preceding two year period because of the Contractor's failure to comply with an order of a federal court which orders the Contractor to comply with an order of the National Labor Relations Board.

Note: The above Statement and Questionnaire are part of the Bid. Signing this form on the signature portion thereof shall also constitute signature of this Statement and Questionnaire.

Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

NONCOLLUSION AFFIDAVIT

State of California)) ss.	
County of Sacramente	<u>o</u>)	
organization, or corpordirectly or indirectly in directly or indirectly or sham bid, or that any indirectly, sought by a bidder or any other bidder, or to interested in the prop the bidder has not, directly contents thereof, or dany corporation, partr	, remg mer dary ewern, depende and	oregoing bid that the bid is not made hip, company, association, we or sham; that the bidder has not a false or sham bid, and has not any bidder or anyone else to put in a has not in any manner, directly or h anyone to fix the bid price of the ement of the bid price, or of that of dy awarding the contract of anyone in the bid are true; and, further, that ce or any breakdown thereof, or the reaid, and will not pay, any fee to
Signature:	47/	
Title: Date:	President 4-9-2024	
	SEE ATTACHED NOTARY JURAT	
Subscribed and swor	n to before me thisday of	, 20
Signature of Notary P	Public	

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.				
State of California County of Sacramento				
Subscribed and sworn to (or affirmed) before me on this 9th day of April , 20 24 , by Patrick Mullen				
proved to me on the basis of satisfactory evidence to be the person(s) who appeared before me.				
TRACI E. NAKAGAKI COMM. #2383122 Notary Public - California Sacramento County My Comm. Expires Nov. 15, 2025				
(Seal) Signature				

DEBARMENT AND SUSPENSION CERTIFICATION

TITLE 49, CODE OF FEDERAL REGULATIONS, PART 29

The bidder, under penalty of perjury, certifies that, except as noted below, he/she or any other person associated therewith in the capacity of owner, partner, director, officer, manager:

- is not currently under suspension, debarment, voluntary exclusion, or determination of ineligibility by any Federal agency;
- has not been suspended, debarred, voluntarily excluded or determined ineligible by any Federal agency within the past 3 years;
- · does not have a proposed debarment pending; and
- has not been indicted, convicted, or had a civil judgement rendered against it by a court of competent jurisdiction in any matter involving fraud or official misconduct within the past 3 years.

If there are any exceptions to this certification, insert the exceptions in the following space.

NIA

Exceptions will not necessarily result in denial of award, but will be considered in determining bidder responsibility. For any exception noted above, indicate below to whom it applies, initiating agency, and dates of action.

Notes: Providing false information may result in criminal prosecution or administrative sanctions.

The above certification is part of the Bid. Signing this Bid on the signature portion thereof shall also constitute signature of this Certification.

CONTRACTOR B&M Builders, Inc.	
Signature:	
Name: Patrick Mullen	
Date: 4-9-2024	

STATEMENT OF EXPERIENCE

19 year	has been engaged in the contra rs.	cting business, under the prese	ent business namefor
Experience years.	in work of a nature similar to the	at covered in the proposal exte	nds over a period of19
	as a contractor, has never failed	d to satisfactorily complete a co	ntract awarded to it, except
N/A			
The following authority income	ng contracts have been satisfacted dicated, and to whom reference	orily completed in the last five y is made:	ears for the persons, firm or
<u>Year</u>	Owner/Address	Type of Work	Contract Amt.
Please see a	attached.		
7	der penalty of perjury that the fo	regoing is true and correct.	

Statement of Experience				
Year	Owner/Address	Type of Work	Contract Amount	
2023	City of Woodland 300 First Street, Woodland, CA 95695	Traffic Control, Asphalt Paving, Striping/Signage/Pavement Markings	\$148,734.39	
2023	City of Vacaville 650 Merchant Street, Vacaville, CA 95688	Saw-Cutting, Demolition, Excavation, Earthwork, Grading, AB Placement, Concrete Placement, Asphalt Paving, Electrical - Solar Radar Speed Sign Installation.	\$178,408.10	
2023	County of Sacramento 9660 Ecology Lane, Sacramento, CA 95827	Saw-Cutting, Demolition, Clearing & Grubbing, Excavation, Earthwork, Grading, AB Placement, Concrete Placement, Asphalt Paving, Asphalt Overlay Paving, Underground Utilities – Storm Drain Installation, Striping & Signage, Fencing, Electrical – Street Lights and Associated Electrical System.	\$1,764,166.20	
2023	City of West Sacramento 1110 W. Capitol Avenue, West Sacramenot, CA 95691	Clearing & Grubbing, Demolition, Excavation, Earthwork, Grading, Concrete Placement, Storm Drain Installation, Asphalt Paving, Electrical, Striping & Signage, Erosion Control, Landscaping, Fencing, Tree Removal	\$2,363,047.45	

2022	City of Rancho Cordova 2729 Prospect Park Drive, Rancho Cordova, CA 95670	Traffic Control, Saw- Cutting, Demolition, Excavation, Place Shoring, Storm Drain System Installation, Crushed Rock & AB Placement, Asphalt Paving, Striping	\$492,240.71
2023	City of Folsom 50 Natoma Street, Folsom, CA 95630	Demolition, Excavation, Earthwork, Grading, Underground Utilities – Water (Hot Tamp Main Waterline, Install Water Service Line), Concrete Placement, Asphalt Paving, Landscaping & Irrigation, Striping	\$656,930.22
2022	City of Rancho Cordova 2729 Prospect Park Drive, Rancho Cordova, CA 95670	Traffic Control, Water Pollution Control, Construction Staking, Saw- Cutting, Demolition, Clearing & Grubbing, Excavation, Earthwork, Grading, AB Placmenet, Concrete Placement, Asphalt Paving, Rubberized Hot Mix Asphalt Overlay, Striping & Signage, Electrical - Signal Loop Detector Replacement	\$344,618.92
2022	City of Rancho Cordova 2729 Prospect Park Drive, Rancho Cordova, CA 95670	Demolition, Excavation, Earthwork, Grading, AB Placement, Concrete Placement, Storm Drain System Installation, Asphalt Paving, Rubberized Asphalt Paving, Electrical, Striping & Signage	\$6,043,366.19

BID SECURITY ELECTION FORM

Bidders who submit electronic bids shall complete and submit this Bid Security Election Form with their bids. This form is not required for hard copy bid submissions. Bidders are advised to read the section of this bid titled: "Security Instructions" on bids&tenders™.

Name of Bidder (Firm): <u>B&M</u>	Builders, Inc.		
Accompanying this Bid is: _	Bidder's Bond		_(security type)
in an amount equal to at leas	st ten percent of the to	otal bid amount.	
	ER'S CHECK," "CERT	F THE FOLLOWING SECURITY IFIED CHECK," "BIDDER'S BO	

Bidder acknowledges the requirement that the bid security type indicated by the bidder above must match the actual security type submitted by the bidder, and that a "mismatch" between the two will render his/her bid non-responsive.

BIDDER'S BOND

KNOW ALL PERSONS BY THESE PRESENTS:

That we, the undersigned Contractor and Surety, are held and firmly bound unto the County of Placer in the sum of ten percent (10%) of the total amount of the bid of the Contractor, submitted by said Contractor to the County of Placer for the work described below, for the payment of which sum in lawful money of the United States, well and truly to be made, we bind ourselves, our heirs, executors and administrators, successors or assigns, jointly and severally, firmly by these presents. In no event shall the liability of the Surety hereunder exceed the sum of Ten Percent of Total Amount Bid Dollars (\$\frac{10\%}{10\%} \text{ of Total Amount Bid}). The condition of this obligation is such that the above Contractor has submitted the above-mentioned bid to the County of Placer for certain work specifically described as:

DOUGLAS BOULEVARD MEDIAN MODIFICATION PROJECT

NOW, THEREFORE, if said Contractor is awarded the above-mentioned contract, and within the time and manner required by the contract documents, enters into a written contract in accordance with the bid, and files the required bonds and insurance certificate, then this obligation shall be null and void; otherwise, it shall be and remain in full force and effect.

IN WITNESS WHEREOF, We have hereunto set our hands and s April, 20 24	eals on this 8thday of
CONTRACTOR: B & M Builders, Inc	
By:	
Title: Patrick Mullen, President	
SURETY:	
Travelers Casualty and Surety Company of America	
Ву:	
Title: Ryan Tash, Attorney-In-Fact	
Address of Surety for Service of Notice and/or Process: Travelers Casualty and Surety Company of America	
ONE TOWER SQUARE,	
HARTFORD, CT 06183.	

NOTE: Signature of Surety must be notarized and must be accompanied by a duly authorized power of attorney if executing as attorney-in-fact for Surety.

APPROVED AS TO FORM BY PLACER COUNTY COUNSEL

SEE ATTACHED NOTARY ACKNOWLEDGMENT

CERTIFICATE OF ACKNOWLEDGEMENT

State of Ca City/Count											
On this		day of _					in the	year			
before me,											
personally	appeared,		At	tornev	in Fact						
		me (or proved subscribed	to me	on the	basis of s						
		me that he/she as attorney in		ribed t	the name	of the	said c	ompany th	 ereto	as sur	ety,
(SEAL)											
					Notary	y Publi	С				

Note: Signature of those executing for the surety must be properly acknowledged.

COUNTY OF PLACER
Douglas Boulevard Median Modification Project
Project No. PJ02416 – Bid No. 20504

ACKNOWLEDGMENT

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

validity of that document.	
State of California County of	
On before me,	raci E. Nakagaki, Notary Public (insert name and title of the officer)
	(insert name and title of the officer)
personally appeared Ryan Tash	
who proved to me on the basis of satisfactory evid subscribed to the within instrument and acknowled his/her/their authorized capacity(ies), and that by person(s), or the entity upon behalf of which the p	dged to me that he/she/they executed the same in his/her/their signature(s) on the instrument the
I certify under PENALTY OF PERJURY under the paragraph is true and correct.	e laws of the State of California that the foregoing
WITNESS my hand and official seal.	TRACI E. NAKAGAKI COMM. #2383122 Notary Public - California
Signature	Sacramento County My Comm. Expires Nov. 15, 2025

ACKNOWLEDGMENT

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

Tallaty of that accumont.			
State of California County ofSacramento)		
on_04/08/24	_ before me,		Nakagaki, Notary Public and title of the officer)
personally appeared who proved to me on the basis of subscribed to the within instrumer his/her/their authorized capacity(is person(s), or the entity upon beha	satisfactory evid at and acknowled es), and that by h	ged to me that he is/her/their signa	e/she/they executed the same in ture(s) on the instrument the
I certify under PENALTY OF PER paragraph is true and correct.	JURY under the	laws of the State	of California that the foregoing
WITNESS my hand and official se	al.	-NRO1	TRACI E. NAKAGAKI COMM. #2383122 Notary Public - California Sacramento County
Signature		(Seal)	My Comm. Expires Nov. 15, 2025



Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Ryan Tash

RANCHO CORDOVA

California

Their true and lawful Attorney(s)-in-Fact to sign, execute, seal and acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on babels of

acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 21st day of April, 2021.







State of Connecticut

City of Hartford ss.

By: ______Robert L. Raney, Senior Vice President

On this the 21st day of April, 2021, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of each of the Companies, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of said Companies by himself as a duly authorized officer.

IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2026



Anna P. Nowik, Notary Public

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of each of the Companies, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Senior Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Vice President, any Assistant Vice President, any Secretary, any Assistant Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, **Kevin E. Hughes**, the undersigned, Assistant Secretary of each of the Companies, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 8th day of April

, 2024







Kevin E. Hughes, Assistant Secretary